106.5FM WARH St. Louis, MO

Quarterly Issues/Programs Report

3rd Quarter, 2023

Placed in Public File On: October 10, 2023

Quarterly Issues Programs List for

WARH-FM

July 1 - September 30, 2023
Placed in Public File on
October 10, 2023

Section I. Issues

The station has identified the following issues as significant issues facing our community in this quarter:

- A. Mental Health: Topics pertaining to mental health.
- B. **Non-Profit | Charity:** Events and organizations to edify the community.
- C. **Community:** Identifying and solving problems in our broadcasting community.
- D. **Education | History:** Content intended for instruction and/or enlightenment.
- E. Child | Adolescent Health: Topics related to children and adolescents.
- F. Disease | Public Health: Issues related to individual and societal health.
- G. **Consumerism | Economy:** The economic health of our community, region, families, and individuals.

Section II. Responsive Programs

The station has broadcast programming dealing with each of the above referenced issues. Programming dealing with each issue is set out below.

A. Mental Health

"Talk of the Town" – Broadcast on July 16, 2023, at 5:30 A.M.; Duration 30 minutes

Conflux Co-Learning: Talk of the Town host, Grant Francis chats with Licensed Professional

Counselor, Justine Froelker, who will be speaking at Conflux Co-Learning's fall workshop this year.

Justine talks about leadership and mental health within the workplace. She touches on how the

Covid-19 pandemic impacted the workplace dynamic, and how to be a better you in your personal
life and your career.

Compliancy Issues: Mental Health, Burnout, Business, Education, Employment Issues, Career, Covid-19

"ViewPoints" – Broadcast on August 13, 2023, at 6:13 A.M.; Duration 8:29 minutes

Feeling Distracted & Disconnected? Here's How to Slow Down: In 2012, researchers at the

University of California-Irvine estimated that the average human's attention span was around
seventy-five seconds. In recent years, this number has dropped to forty-seven seconds. What's
leading to this continuing decline in our attention spans? We spoke with one mindfulness expert to
get some tips on how people can slow down, increase their focus, and feel less chronically
stressed. Host: Marty Peterson. Guest: Christian Madsbjerg, professor, applied humanities, New
School, author, Look: How to Pay Attention in a Distracted World.

Compliancy Issues: Mental Health, Psychology, Career, Social Media, Technology, Self-Development, Chronic Stress

"Talk of the Town" – Broadcast on August 27, 2023, at 5:30 A.M.; Duration 30 minutes Illinois Recovery Center: Talk of the Town host, Grant Francis welcomes in CEO and Founder, Eric Conley and Business Partner, Chris Pondoff of The Illinois Recovery Center. The Illinois Recovery Center's mission is to provide an opportunity for growth and freedom from active addiction through establishing the needed foundation for recovery and a healthy lifestyle. Eric and Chris talk about their own stories that led them to what they do now at the Illinois Recovery Center.

Compliancy Issues: Mental Health, Addiction, Health, Nonprofit, Wellness, Disease

"ViewPoints" – Broadcast on September 24, 2023, at 6:12 A.M.; Duration 8:50 minutes One After Another: Helping People Recover in a World Where Natural Disasters Are All Too Common: The reality: Human-induced climate change is leading to more frequent and powerful extreme weather events. In the U.S. and around the world, millions struggle to get back on their feet following the damage and destruction these disasters bring. As bystanders, how can we pitch in and help? We cover the physical and mental toll these hardships cause and why it's important to step up and give back in any way you can.

Host: Marty Peterson. Producer: Amirah Zaveri. Guest: Vickie Mays, clinical psychologist, distinguished professor, psychology, health policy & management, University of California-Los Angeles.

Compliancy Issues: Psychology, Natural Disasters, Mental Health, Nonprofits, Trauma, Climate Change, Volunteerism, Public Health, Emergency Response

B. Non-Profit | Charity

"Talk of the Town" - Broadcast on July 2, 2023, at 5:30 A.M.; Duration 30 minutes

Songs 4 Soldiers: Talk of the Town host, Grant Francis chats with President and Founder of Songs 4

Soldiers, Dustin Row. Songs 4 Soldiers is a 501 C3 not-for-profit organization whose mission is to
enrich the lives of combat veterans and their families who have limited resources. They are hosting
their tenth anniversary Songs 4 Soldiers Concert in September to help raise funds for veterans in
need.

Compliancy Issues: Veteran, Nonprofit, Mental Health, Homelessness, War

"Talk of the Town" – Broadcast on July 9, 2023, at 5:30 A.M.; Duration 30 minutes

Speak! Rescue and Sanctuary: Talk of the Town host, Grant Francis welcomes in Certified

Professional Dog Trainer, Dawn Kettler of Speak! Rescue and Sanctuary. Speak! Rescue and

Sanctuary is a 501 C3 non-profit foster-based Australian shepherd rescue specializing in doublemerle awareness. They are passionate about helping all Aussies and border collies, including those
born with hearing and vision impairments because of merle-to-merle breeding.

Compliancy Issues: Animal Welfare, Nonprofit, Training, Education

"Talk of the Town" - Broadcast on September 3, 2023, at 5:30 A.M.; Duration 15 minutes Wheelchairs for Warriors: Talk of the Town host, Grant Francis welcomes in Executive Director and Co-Founder, Crystal Laramore from Wheelchairs for Warriors. Wheelchairs for Warriors is a nonprofit organization that provides custom wheelchairs for injured veterans and first responders that are engineered to each recipient's individual needs and capabilities, allowing for mobility and independence at the highest level possible.

Compliancy Issues: Veteran, Nonprofit

C. Community

"Talk of the Town" – Broadcast on July 30, 2023, at 5:30 A.M.; Duration 30 minutes

St. Louis Development Academy: Talk of the Town host, Brendan Miller welcomes in Youth

Coordinator for the St. Louis Development Academy, Marty Pike. Marty joins the show and talks

about the importance of the youth staying active and having fun. Marty goes into depth about the keys to coaching the youth and how it affects them later in life.

Compliancy Issues: Sports Industry, Education, Recreation, Community

"Talk of the Town" – Broadcast on August 6, 2023, at 5:30 A.M; Duration 30 minutes St. Louis Area Diaper Bank: Talk of the Town host, Grant Francis talks with Executive Director for the St. Louis Area Diaper Bank, Muriel Smith. The St. Louis Area Diaper Bank is an organization whose mission is to build healthy communities by ending diaper need and period poverty through access, education, and advocacy. Muriel talks about the history of the St. Louis Area Diaper Bank, and what they have done to aid the needs of the St. Louis community.

Compliancy Issues: Child Health, Education, Food Insecurity, Nonprofit, Community, Pediatric Health

"Talk of the Town" - Broadcast on September 10, 2023, at 5:30 A.M.; Duration 30 minutes

The St. Louis Area Food Bank: Talk of the Town host, Grant Francis chats with President and CEO,

Meredith Knopp of the St. Louis Area Food Bank. The St. Louis Area Food Bank is an organization
that is committed to ensuring access to the foods and resources our neighbors need to thrive.

Their network of partners and programs stretches across 26 counties throughout eastern Missouri
and southwestern Illinois to revolutionize the hunger relief system.

Compliancy Issues: Public Health, Food Insecurity, Community, Covid-19, Nutrition

D. Education | History

"ViewPoints" – Broadcast on July 23, 2023, at 6:22 A.M.; Duration 1:49 minutes Why Is An End to Affirmative Action Such Big News? We break down how higher education will be affected by the Supreme Court's recent ruling ending affirmative action.

Host: Ebony McMorris

Compliancy Issues: Higher Education, Government, Race, Inequality, Education Access

"ViewPoints" – Broadcast on July 23, 2023, at 6:12 A.M.; Duration 9:27 minutes *Did you know that cannabis use dates back tens of thousands of years?* While its earliest use traces back to Asia, it eventually spread to Europe and then America and was used in a variety of capacities. We speak with highly acclaimed pharmacology expert Dr. Richard Miller about the global history of cannabis and its controversial record over the last 70 seventy years of American history. Host: Marty Peterson. Guest: Dr. Richard Miller, professor, pharmacology, Northwestern University Feinberg School of Medicine.

Compliancy Issues: Drug Policy, Government, Cannabis Legalization, Public Health, History, Culture, War on Drugs

"Talk of the Town" – Broadcast on August 13, 2023, at 5:30 A.M.; Duration 30 minutes Eden's Glory: Talk of the Town host, Grant Francis welcomes in Director of Development for Eden's Glory, Morgan Leigh. Eden's Glory is a fully-donor supported organization that is committed to ongoing efforts to train and equip members of society in the areas of awareness, mobilization, prevention, rescue, and restoration as it relates to human trafficking. Morgan talks about the history of Eden's Glory, and how they continue to combat human trafficking.

Compliancy Issues: Public Health, Safety, Mental Health, Nonprofit, Community, Education

"ViewPoints" – Broadcast of August 20, 2023, at 6:10 A.M.; Duration 9:58 minutes Separating Fact from Fiction: Are You a Victim of Misinformation?

Conspiracy theories have been around for hundreds of years. From secret projects to secret government societies, these theories are prevalent are prevalent across society. We speak with two conspiracy experts about how these stories arise, why they're so pervasive online and why artificial intelligence may make these narratives more difficult to detect.

Host: Marty Peterson. Guests: Colin Dickey, writer, author, *Under the Eye of Power: How Fear of Secret Societies Shapes American Democracy;* Dr. Erik Nisbet, Owen L. Coon Professor of Policy Analysis & Communication, Northwestern University.

Compliancy Issues: Technology, Politics, Presidential Election, Social Media, News, Artificial Intelligence, History, Journalism, Media, Culture

"Talk of the Town" – Broadcast on September 3, 2023, at 5:45 A.M.; Duration 15 minutes Mosaics Fine Art Festival: Talk of the Town host, Grant Francis chats with Melinda Nolan from the Mosaics Fine Art Festival. The Mosaics Fine Art Festival is a nonprofit organization that showcases local and regional artists while educating the community on how art can enhance their lives. The festival features a wide array of artwork produced by a mix of emerging, mid-career, and established artists in all mediums.

Compliancy Issues: Recreation, Community, Nonprofit, Culture, Education

"ViewPoints" – Broadcast on September 17, 2023, at 6:12 A.M.; Duration 9:20 minutes School, Sports, Standardize Test: When Is There Time to Build Life Skills? As an academic advisor, Ana Homayoun has had thousands of conversations with students, parents, and administrators. Many of these talks typically center around grades, college admissions, career paths and other key academic to-dos. Yet, what's not as commonly talked about is the importance of life skills. This means cultivating independence, setting good habits and more. We speak with Homayoun about why so many teens seem to struggle post-high school and how adults can better prepare their kids in the long-term rather than focusing solely on short-term academic markers.

Host: Marty Peterson. Guest: Ana Homayoun, academic advisor, early career development expert, author, *Erasing the Finish Line: The New Blueprint for Success*.

Compliancy Issues: Education, Mental Health, Parenting, Creativity, Life Skills, Adolescent Development, Self Help

"ViewPoints" – Broadcast on September 24, 2023, at 6:01 A.M.; Duration 8:05 minutes Are You Making the Most Out of Chat GPT? There's been a lot of hype around Chat GPT and generative AI this year, but is the average person using the new tech? We highlight how leaders in education policy are integrating AI into certain processes to create positive for teachers, administrators, and students in classrooms nationwide. From there, we breakdown what are some of the biggest ways AI helps with tasks and how you can go about interacting with these chatbots to get the answer you're looking for.

Host: Gary Price. Producer: Amirah Zaveri. Guest: Perpetual Baffour, Research Director, Learning Agency Lab.

Compliancy Issues: Technology, Innovation, Education, Career, Time Management, Productivity

E. Child | Adolescent Health

"Talk of the Town" - Broadcast on August 20, 2023, at 5:30 A.M.; Duration 30 minutes

Make A Wish: Talk of the Town host, Grant Francis chats with Vice President of Marketing and
Communications, Brian Miller and Volunteer Manager, Bre Colombo of Make A Wish. Make A Wish
is a 501 C3 non-profit organization that proudly manages and safeguards the generous
contributions of individual donors, corporations, and other organizations to support one single
purpose: to grant wishes that change lives. Brian and Bre talk about how many wishes they try to
grant every year and some wonderful stories that they've experienced along the way.

Compliancy Issues: Child Health, Nonprofit, Community, Charitable Giving, Disease

"ViewPoints" – Broadcast on August 27, 2023, at 6:01 A.M.; Duration 7:31 minutes

Never Good Enough: A Rise In Mental Health Issues Among Adolescents. With summer break over and millions of students back in school, it's a good time to talk about the importance of mental health. After all, adolescents today face an excessive number of demands both in and outside of the classroom. This week on Viewpoints - we speak with author Jennifer Breheny Wallace about the importance of sharing how a person's value should never be linked to their performance. Host: Gary Price. Guest: Jennifer Breheny Wallace, journalist, writer, author, Never Enough: When Achievement Culture Becomes Toxic – And What We Can Do About It.

Compliancy Issues: Mental Health, Adolescent Development, Parenting, Self-Growth, Education, Psychology

"Talk of the Town" – Broadcast on September 17, 2023, at 5:30 A.M.; Duration 30 minutes Friends of Kids With Cancer: Talk of the Town host, Grant Francis welcome in Brandy Bimslager, Executive Director of Friends of Kids With Cancer. Friends of Kids With Cancer is devoted to enriching the daily lives of children undergoing treatment for, and survivors of, cancer and blood-related diseases. Their mission is to be an advocate for these special kids, providing them and their families with the educational, emotional, and recreational support needed because of the long hours of chemotherapy, illness, and isolation.

Compliancy Issues: Child Health, Disease, Mental Health, Education, Recreation

F. Disease | Public Health

"ViewPoints" – Broadcast on July 2, 2023, at 6:01 A.M.; Duration 9:36 minutes You Need to Lose Weight or You're Going to Die": What One Man Did Next

When you imagine who's a runner – who do you picture? Most Americans would describe a person who's lean, muscled, and fits into a certain body type category. Martinus Evans, runner, author & founder of the Slow A-F Run Club, is hoping to break this way of thinking. He argues that anyone – at any body size – can be a consistent runner. Evans shares his story of how he got into running and embodies his own mantra as a 300-pound-man who's run eight marathons.

Host: Marty Peterson. Guest: Martinus Evans, runner, founder, Slow A-F Run Club, author, *Slow A-F Run Club: The Ultimate Guide for Anyone Who Wants to Run.*

Compliancy Issues: Exercise, Health, Mental Health, Career, Self-Confidence, Body Inclusion, Sports

"Talk of the Town" – Broadcast on July 23, 2023, at 5:30 A.M.; Duration 30 minutes Alzheimer's Association: Talk of the Town host, Grant Francis welcomes in Sarah Lovegreen, Vice President of Programs at the Alzheimer's Association. Sarah joins the show as there are two new treatments for Alzheimer's disease, Lecanemab and Donanemab, that are being introduced. Sarah explains what these two new treatments are and how they will change the prognosis timeline for Alzheimer's patients.

Compliancy Issues: Disease, Nonprofit, Aging, Public Health, Mental Health

"ViewPoints" – Broadcast on July 16, 2023, at 6:22 A.M.; Duration 2:01 minutes Pedestrian Deaths Hit A 40 - Year High. What's fueling the staggering increase in pedestrian deaths in recent years? We discuss this alarming upward trend.

Host: Ebony McMorris

Compliancy Issues: Public Health, Public Safety, Transportation, Accessibility

"ViewPoints" – Broadcast on July 23, 2023, at 6:01A.M.; Duration 7:36 minutes *Mary Lasker: A Public Health Pioneer*.: The National Institute of Health. National Cancer Institute. These are just some of the research foundations that are thriving today thanks to the work of health activist Mary Lasker. We speak with biographer, Judith L. Pearson, about the many big contributions Lasker made to cancer & heart disease research throughout the twentieth century. Host: Gary Price. Guests: Judith L. Pearson, biographer, author, *Crusade to Heal America: The Remarkable Life of Mary Lasker*.

Compliancy Issues: Medicine, Medical Research, Public Health, Government Funding, Politics, Science, History

"ViewPoints" – Broadcast on August 13, 2023, at 6:01A.M.; Duration 8:55 minutes The Growing Risk of Wildfires from Coast to Coast: Are You Prepared?

It's been the deadliest year on record for wildfires in Canada. While California is typically the focus point for these events, the new reality of human-caused climate change is that wildfires are becoming a greater threat in areas never seen before. We speak with Dr. Adrienne Edwards, a botanist and wildfire expert, about how Americans can best prepare for wildfire season and help stop the spread. **Host:** Gary Price. Guest: Dr. Adrienne Edwards, botanist, author, *Firescaping Your Home: A Manual for Readiness in Wildfire Country*.

Compliancy Issues: Climate Change, Natural Disaster, Emergency Response, Public Health, Government, Environment

"ViewPoints" – Broadcast on September 3, 2023, at 6:22A.M.; Duration 2:07 minutes

The Escalating Levels of Caffeine in Energy Drinks. Over the past two decades, caffeine levels have continued to creep higher and higher. We cover how much caffeine is packed inside many of these newer energy drinks and the consequences of consuming higher-than-needed amounts.

Host: Ebony McMorris

Compliancy Issues: Public Health, Marketing, Adolescent Health, Parenting, Mental Health

G. Consumerism | Economy

"ViewPoints" – Broadcast on July 16, 2023, at 6:01 A.M; Duration 8:53 minutes

Avoiding Conversations Around Money? Here's How to Get Started. Only 1 in 4 Americans feels financially secure, according to a recent survey by consumer financial services firm, Bankrate. We speak with two financial experts about how more Americans can have productive conversations about their spending and come up with a plan to save and invest more for the future.

Host: Gary Price. Guests: Lori Sackler, certified financial planner, financial wealth advisor, author, *The M Word: The Money Talk Every Family Needs to Have About Wealth and Their Financial Future*; Emily Guy Birken, financial expert, financial writer, author, *Stacked: Your Super Serious Guide to Modern Money Management*.

Compliancy Issues: Personal Finance, Retirement, Aging, Relationships, Parenting, Economy, Consumerism, Wealth

"ViewPoints" – Broadcast on July 30, 2023, at 6:22 A.M.; Duration 2:02 minutes How Much Are You Paying for Subscriptions Each Month? There seems to be a subscription for nearly every product or service these days. But how much is too much? And when you're ready to cancel, why does it always seem like it's a pain to go through the process? We uncover how some businesses use deceptive marketing tactics to keep consumers paying.

Host: Ebony McMorris

Compliancy Issues: Consumerism, Technology, Business, Marketing, Government, Law

"ViewPoints" – Broadcast on August 6, 2023, at 6:01 A.M.; Duration 6:15 minutes How Artificial Intelligence Is Fueling The \$1.1 Trillion in Online Retail Sales.

Online retail sales are set to surpass \$1.6 trillion by 2027. With so much growth in the market, retailers are investing big in artificial intelligence software that improves customer interaction, usability, supply chain and more. We speak with the Chief Technology Officer of Zenni Optical about how retailers are setting up for this new era of digital dominance.

Host: Gary Price. Guest: David Ting, chief technology officer, Zenni Optical.

Compliancy Issues: Consumer Habits, Business, Economy, Technology, User Experience, Consumerism, Retail Trends

"ViewPoints" - Broadcast on September 3, 2023, at 6:01 A.M; Duration 7:32 minutes Drowning In Debt? You're Not Alone: A New Wave of Credit Card Debt in America
Credit card debt in the U.S. just surpassed one trillion dollars and payment delinquency rates are also on the rise. One factor that's feeding into these increases is the growing number of credit card accounts. The Federal Reserve Bank of New York reports that there are 70 million new accounts since 2019. This week – we discuss the effects of escalating debt and how listeners can start taking back control. Host: Gary Price. Guest: Chloe Elise, certified financial coach, author, Deeper Than Money.

Compliancy Issues: Personal Finance, Consumerism, Psychology, Economy, Banking, National Debt, Self-Development

"ViewPoints" – Broadcast on September 17, 2023, at 6:22 A.M.; Duration 1:45 minutes China's Deepening Economic Woes: What's Fueling This Decline? Less jobs. Lower property values. Tightened consumer spending. These are just some of the challenges China's been facing over the past several months. Will this global superpower be able to avoid a full-fledged recession? We talk about why Americans should care about this developing international economic news.

Host: Ebony McMorris

Compliancy Issues: Global Economy, International Policy, Job Security, Real Estate

Row Labels	Count of Air Time	Sum of Len
KPNT-FM	950	51510
FRIENDS OF KIDS W/CANCER (PSA)	44	1320
30	44	1320
GUNS 'N HOSES PSA	45	1350
30	45	1350
LLS (PSA)	19	570
30	19	570
MAKE A WISH(PSA)	47	1410
30	47	1410
MO BROADCASTERS ASSOC/PSA	131	3930
·		
30	131	3930
PSA	529	15870
30	529	15870
SSM CARDINAL GLENNON FND	74	2220
30	74	2220
STAND UP TO CANCER PSA	48	1440
30	48	1440
VIEWPOINTS	13	23400
1800	13	23400
KSHE-FM	1025	51990
FRIENDS OF KIDS W/CANCER (PSA)	50	1500
30	50	1500
GUNS 'N HOSES PSA	50	1500
30	50	1500
LLS (PSA)	21	630
30	21	630
MAKE A WISH(PSA)	50	1500
30	50	1500
MO BROADCASTERS ASSOC/PSA	131	3930
30	131	3930
PSA	582	17460
30	582	17460
SSM CARDINAL GLENNON FND	77	2310
30	77	2310
STAND UP TO CANCER PSA	52	1560
30	52	1560
VIEWPOINTS	12	21600
1800	12	21600
WARH-FM	1154	77265
FRIENDS OF KIDS W/CANCER (PSA)	46	1380
30	46	1380
GOODWILL(PSA)	81	2430
30	81	
		2430
GUNS 'N HOSES PSA	45	1350
30	45	1350
LLS (PSA)	20	600
30	20	600

MAKE A WISH(PSA)	47	1410
30	47	1410
MO BROADCASTERS ASSOC/PSA	130	3900
30	130	3900
PSA	497	14910
30	497	14910
SSM CARDINAL GLENNON FND	75	2250
30	75	2250
STAND UP TO CANCER PSA	52	1560
30	52	1560
TALK OF THE TOWN/ PSA SHOW	13	23400
1800	13	23400
VIEWPOINTS	13	23400
1800	13	23400
WARH-IN HOUSE	135	675
5	135	675
WIL-FM	1166	81000
FRIENDS OF KIDS W/CANCER (PSA)	50	1500
30	50	1500
GOODWILL(PSA)	90	2700
30	90	2700
GUNS 'N HOSES PSA	50	1500
30	50	1500
LLS (PSA)	21	630
30	21	630
MAKE A WISH(PSA)	50	1500
30	50	1500
MO BROADCASTERS ASSOC/PSA	132	3960
30	132	3960
PRAIRIETOWN HOMECOMING	30	900
30	30	900
PSA	586	17580
30	586	17580
SSM CARDINAL GLENNON FND	78	2340
30	78 78	2340
STAND UP TO CANCER PSA	53	1 590
30	53 13	1590
TALK OF THE TOWN/ PSA SHOW	13	23400
1800	13	23400
VIEWPOINTS	13	23400
1800	13	23400
WXOS-FM	9357	354645
FRIENDS OF KIDS W/CANCER (PSA)	48	1440
30	48	1440
GOODWILL(PSA)	92	2760
30	92	2760
GUNS 'N HOSES PSA	50	1500
30	50	1500

30	21	630	
MAKE A WISH(PSA)	49	1470	
30	49	1470	
MO BROADCASTERS ASSOC/PSA	132	3960	
30	132	3960	
PSA	609	18270	
30	609	18270	
PSA :30-1	393	11790	
30	393	11790	
PSA :30-10	378	11340	
30	378	11340	
PSA :30-2	386	11580	
30	386	11580	
PSA :30-3	361	10830	
30	361	10830	
PSA :30-4	385	11550	
30	385	11550	
PSA :30-5	367	11010	
30	367	11010	
PSA :30-6	371	11130	
30	371	11130	
PSA :30-7	377	11310	
30	377	11310	
PSA :30-8	376	11280	
30	376	11280	
PSA :30-9	388	11640	
30	388	11640	
PSA :60-1	319	19140	
60	319	19140	
PSA :60-10	306	18360	
60	306	18360	
PSA :60-2	308	18480	
60	308	18480	
PSA :60-4	317	19020	
60	317	19020	
PSA :60-5	308	18480	
60	308	18480	
PSA :60-6	315	18900	
60	315	18900	
PSA :60-7	310	18600	
60	310	18600	
PSA :60-8	314	18840	
60	314	18840	
PSA :60-9	310	18600	
60	310	18600	
PSA 60-3	317	19020	
60	317	19020	
SSM CARDINAL GLENNON FND	77	2310	
30	77	2310	

STAND UP TO CANCER PSA	54	1620
30	54	1620
wxos	1319	19785
15	1319	19785
(blank)		
(blank)		
(blank)		
Grand Total	13652	616410

UES PROGRAMS LIST